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M.S.W. (Fourth Semester)
EXAMINATION, May-June, 2022

Paper - XVII
Social Development

Time : Three Hours] [Maximum Marks:80

    

Note : Attempt all the sections as directed.



(Section - A)

 

(Objective/Multiple Choice Questions)

 (1 mark each)

    

Note : Attempt all the questions.

  

Choose the correct answers.

P.T.O.
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1.   

(A)   

(B)   

(C)   

(D)   

When did industrialization start in India before indepen-
dence?

(A) 19th Century

(B) Mid - 19th Century

(C) 20th Century

(D) Mid - 20th Century

2.    

(A) 

(B) 

(C) 

(D) 

E-Banking is an example of which type of Transforma-
tion?

(A) Economic

(B) Political

(C) Social

(D) All the above
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3.   

(A) 

(B) 

(C) 

(D) 

Which of the following is the cause of demographic tran-
sition?

(A) High birth rate and High death rate

(B) High birth rate and Low death rate

(C) Low birth rate and High death rate

(D) None of the above

4.     

(A) 129

(B) 130

(C) 131

(D) 132

What was the rank of India in Human Development Index 2020?

(A) 129

(B) 130

(C) 131

(D) 132
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5. 

(A) 

(B) 

(C) 

(D)  

Which of the following is not the unit of social structure?

(A) Association

(B) Institution

(C) Group

(D) None of these

6. 

(A) 1997 - 2002

(B) 2002 - 2007

(C) 1992 - 1997

(D) 2007 - 2012

How long was the period of the Tenth five year plan in
India?

(A) 1997 - 2002

(B) 2002 - 2007

(C) 1992 - 1997

(D) 2007 - 2012
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7.   

(A)   

(B)  

(C)  

(D) 

Which of the following is related to the theory of develop-
ment?

(A) R. K. Merton

(B) K. Davis

(C) A. Levis

(D) None of these

8.    

(A)    

(B) 

(C)   

(D) (A)(B)

Who is known as the father of green revolution?

(A)     Narman Borlang

(B)  Kasturi Rangan

(C)  M.S. Swaminathan

(D)  (A) and (B) Both

P.T.O.
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9.      

(A) 

(B) 

(C) 

(D) 

Social Justice was the main objective of which Five Year
Plan?

(A) Third

(B) Fifth

(C) Fourth

(D) Sixth

10.   

(A)  

(B) 

(C) 

(D)  

Which type of migration is related to international migration-

(A) In Migration

(B) Immigration

(C) Emigration

(D) None of these



[7]

F - 936

11.       

(A)  

(B)  

(C)  

(D) 

What type of program is JRY?

(A) Rural development

(B) Poverty alleviation

(C) Agriculture development

(D) None of these

12.         

(A) 

(B) 

(C) 

(D) 

A.Q.I. measures the quality of what?

(A) Water

(B) Land

(C) Forest

(D) Air

P.T.O.
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13.    

(A) 

(B) 

(C)  

(D) 

From which state did the Naxalbari movement start?

(A) Bihar

(B) Odisha

(C) West Bengal

(D) Madhya Pradesh

14.  

(A) 

(B) 

(C) 

(D) 

With which Five Year Plan did Industrialization start in
India?

(A) Third

(B) Second

(C) Fifth

(D) First
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15. 
  

(A) 

(B) 

(C) 

(D) 

What are the major challenges of social development in
India in the 21st century?

(A) Illiteracy

(B) Poverty

(C) Communalism

(D) All the above

16.    

(A)  

(B)    

(C)   

(D) 

(E) (A)(B)

What are the major challenges of Urban development in
India?

(A) Slums

(B) Vote bank politics

(C) Lack of planning

(D) All the above

(E) (A) and (B) both

P.T.O.
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17.   

(A) 

(B) 

(C) 

(D) 

What is called the outcome of the new economic policy?

(A) Liberalization

(B) Globalization

(C) Privatization

(D) All the above

18.   

(A)  

(B) 

(C) 

(D) 

Who has considered the individual as important in the
social structure?

(A) Redcliffe Brown

(B) Parsons

(C) Merton

(D) All the above
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19.      


(A) 

(B) 

(C) 

(D) 

What kind of transformation was seen in the society
through social legislation?

(A) Economic

(B) Social

(C) Political

(D) All the above

20. 

(A) 

(B) 

(C) 

(D)  

Which scholar has considered national saving as impor-
tant for development-

(A) Lavis

(B) Rostow

(C) Davis

(D) Karl Marx

P.T.O.
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 

Section - B

  

(Very Short Answer Type Questions)

(2 marks each)

  

Note: Attempt all questions.

1.     

Define social development.

2.    

Define development.

3.    

What is Demographic Transition?

4. 

What is Economic Transformation?

5. 

What do you understand by Five Year Plan?
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6.    

Define Gender.

7. 

What do you understand by Industry?

8. 

What is Urbanization?



Section - C

  

(Short Answer Type Questions)

(3 marks each)

   

Note: Attempt all questions.

1.       

Write note on Gandhian theory of development.

2.        

How is unemployment hindrance in Social Development?

P.T.O.
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3.      

Write a note on Land reform program.

4.     

Write note on Environment Pollution.

5.       

Explain the major factor's of Industrialization.

6.      

Write note on Tenth Five Year Plan.

7.    

What is Global Warming?

8.       

Write note on problems of urban development.
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

Section - D

  

(Long Answer Type Questions)

(4 marks each)

   

Note: Attempt all questions.

1.       

Discuss the Marxian theory of development.

/OR

         
 

Discuss the poverty as a contemporary issue of Social
Development.

2.      

Discuss the social transformation in India.

/OR

P.T.O.
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 

Write note on social development in India before inde-
pendence.

3.         


Explain the role of five year plan in social development.

/OR

     

Explain the Political Economy.

4.   

Write note on Green Revolution in India.

/OR

       

Discuss the problems of Industrial development in India.

5.    

Discuss the education issues in Rural India.

/OR

        

Discuss the causes of Gender Inequality in India.


